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IRON CONDOR (IC)

If Short Strangle’s margin and unlimited loss potential is too much for you then the
Iron Condor option strategy could be a perfect fit for you. It's not as complex as it
sounds
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1/ Big Brother of Short Strangle (SS)

| am sure you read our previous thread on SS where you sell slightly OTM options in a sideways market.
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To create an IC

Create an SS first

Buy the next OTM CE

Buy the next OTM PE

Let's clear with an example

EX.

If Nifty is trading at 16300 and you expect it to trade in a narrow range of 200 points till expiry then

Sell 16400CE

Sell 16200PE

This is SS, right?

Now Buy 16500CE

Buy 16100 PE

Thatis IC

All strikes should belong to the same underlying, have the same number of lots, and same expiration

Buy 16500CE

Sell 16400CE

Short Iron
Strangle Spot 16300 Condor

Sell 16200PE

Buy 16100PE

2/ The Credit Part — Max Profit



CALLS PUTS

STRIKE
CHNG
PRICE PRICE PRICE PRICE PRICE

5395 100 31350 31435 100  16,050.00 10210 10230 1000 -345
279.50 50.20 50 27910 279.60 150 16,100.00 50 1760 11785 700 -36.75 117.60
24565 4705 250 24645 24695 150  16,150.00 150 13690 137.20 1450 -4025 137.05
217.30 4250 150 21670 21710 300  16200.00 450 15665 15695 300 -41.35 157.20
188.75 3885 350 188.30 18865 150  16,250.00 100 17630 176.55 50 -47.30  176.20
162.85 35.20 150 16230 16260 550  16,300.00 100 19965 20000 2450 -51.85 200.00
138.50 31.75 50 13840 13860 100  16350.00 200 22575 22620 50 -5925 22575
11715 2715 200 11675 11700 1500 1640000 400 25410 25465 50 -5705 253.75
97.40 2360 200 9740 9760 1000  16,450.00 50 28500 285.65 50 6225 285.00
80.20 1885 600 8015 8035 550 16,500.00 50 31800 31870 50 6575 317.05
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In the above Ex

Sell 16400CE @117

Sell 16200PE @157

Premium received = 274

Buy 16500CE @ 80

Buy 16100PE @ 117

Premium paid = 197

Net premium received = Received — Paid = 274 — 197 = 77

This net credit is the max profit potential in an IC

@117 @157 3/ Safety Comes at a Cost

Max profit potential in case of IC (77) is much less than SS (274), but consider this as cost for capping the risk

We know that there is unlimited risk in SS, in case market makes sharp move. This risk is capped with two long options in
case of IC

@117 @157 4/ Max Loss Potential

Our sold strike = 16400

Our bought (protective) strike = 16500

Spread = 16500 — 16400 = 100
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Max Loss = Spread — Net premium received

Spread =100 - 77 =23

Thereby our maximum loss reduces (from unlimited in SS) to 23 points

@117 @157 5/ IC Risk-Reward Ratio

From the above Ex

Max profit = 77

Max Loss = 23

Risk/Reward potential = 1:3 which is good

In most cases RR will be favorable, that is more than the risk involved

@117 @157 6/ IC Margin Requirements

I have put the above figures in Zerodha margin calculator and came up with following results:

a/ For the following Short Strangle

Exchange Contract Product Strike Qty Initial margin © Exposure

NFO X NIFTY22JUN Options 16200 PE 505 86,287 16,471

NFO X NIFTY22JUN Options 16400 CE 505 79123 16,475
Total

Total

102,758

95,598

1,98,357

@117 @157 Margin Required = Rs1,19,237

This seems high for a strategy that is open-ended so it has to be covered as follows
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Combined margin requirements

Span RS. 86,287
Exposure margin RS. 32,950

Premium receivable ? RS. 35,835

Total margin ? RS. 1,19,237

Margin benefit Rs. 79,119

@117 @157 b/ For Iron Condor

We added 100 points spread to the SS (long 16500CE & 16100PE)

Now Margin required = Rs37,693

We need significantly less margin in this 4legged IC than a 2-legged SS. This is because our short options have been
funding our long options
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Combined margin requirements

Span RS. 4,720
Exposure margin RS. 32,974

Premium receivable ? RS. 4,115

Total margin ? RS. 37,693

Margin benefit Rs. 160,663

@117 @157 7/ Breakeven Points (BE)

There are two breakeven points in IC

Upper BE = Short CE strike + Net premium received

Lower BE = Short PE Strike — Net Premium received

In the above Example

Upper BE = 16400 + 77 = 16477

Lower BE = 16200 — 77 = 16133

@117 @157 8/ Payoff Diagram

From the diagram you can see that you will have max profit if market expires within the short CE and PE strikes
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The profit reduces as market expires between the short strikes and BE points

Outside the BE points, there is limited loss

Max Profit

Profit

4

Lower Breakeven Upper Breakeven

, Price of
Underlying

PE Strike Spot CE Strike

Max Loss Max Loss
| Loss

@117 @157 9/ Five-point Summary

IC is an improvisation over SS

It makes money when market expires in the expected range

Has Narrower BE points

Has lesser margin requirements than SS

Got limited risk at the cost of less profit potential than SS

@117 @157 Stay tuned @finkarmalN for more such writeups in coming days

Don't forget to like and retweet

Thanks for reading
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